TRANSFORMER

Current Transformer (Sensor)
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It is a current transformer and restrict saturation resulted from
general which causes the problem of control by use of ring core as

much as possible. Primary wire is a pass through type which meets
customer needs with variety.

» Component Symbol

L1

L2

Specifications
DIMENSIONS (m/m) c 1 c 1

MODEL NO. | TURN A Q : .

A 8 c R e . G N (Cable thought type) (turn ratio type)
WY — C30 300 | 045 18
WY — C50 500 | 0.38 5 - N L= 1 X N, /N,
WY — C100 1000 | 015 20

B I, = 1z
WY — C200 2000 | 0,076 90 62 | 57 | 43 | 52 |BX3 |17 X 17| 25 41 I, = 1X} Current 1xF Current
, , = 2%
WY — C300 3000 | 0,060 | 180 I, = 2%} Current I, = 2xt Current
- N, = 1t 51 #de
= 2%} ML
WY — C400 4000 | 0046 | 310 N. = 2xt 2
N, = 2&} M4
WY — C500 5000 | 0,034 | 490
Dimension
* CP Type
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